Tvh-Rwb (7998) M17 L=45(

b & &%

¥ RAMMI 50KN/nof

ERAN - ERFEN

fEReFA B

) 9 Eﬁ':iﬂ"yl‘
@} @ @ @ 0
290 220 / 290
10 2890 10 {-D13 _
- D10 @150 §§ -
- o = < - - D10 | —
= S = = =
L TR (7998 MID L=450 / | =
T gy} ‘ i 08.6:0.0.8 =
100 §00 100
= 170 210 =
T 10{ 1110 1110 - F 1%
7vh-fwb (7998) M17 L=450 | = 7vh-kwh (7998) M17 L=450
- NHEI=T r/a-fnt 0o26) MIZ L=650 || =| < 1-D13 B TE )
= O T8y ) O = /
- r—T—| ‘_ [
- D10 8300 [ =l
ﬁéi: - = = % —
| 300 = =
. [ T/h=%m} (7‘77ﬁ) M12 L:[LSO = =
= = 1-D13 =
fgg B = ] 100 | | 250 100
e R a0
= F 1 F 1 F 1 = FG1# % () THREFG2%5RYT
5770 | EgsseN 125 |
| EBRE
ZHR RE#ENo. ZHENo.
BRZ BE :k%é
[RRR—Z/NT R HKS 3035
EZR | BN | 8N KEF

HS5DHA10Z235A

H 74 FEM IR




